Kalapet, Pondicherry

Home



Result Announced Date: 28/08/2025

II Semester B.A. TAMIL JUNE 2025 Examinations Reg. No.: 24TM0001

Name of the Student : BHAVANI S

Father Name: SANKAR **Mother Name: JEEVA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	NANOOL-SOLLATHIGARAM	Th.	4	6.00	24.00	В
2	ILAKKIYA VARALARU-II	Th.	4	5.00	20.00	С
3	PAYANPATTUTHAMIZH	Th.	3	7.00	21.00	B+
4	HEALTH & WELLNESS, YOGA&EDUCATION, SPORTS&FITNESS	Th.	2	7.00	14.00	B+
5	DIGITAL TECHNOLOGIES	Th.	2	7.00	14.00	B+
6	ELECTRONICS IN EVERYDAY LIFE	Th.	3	5.00	15.00	С
7	ENGLISH-I(FUNCTIONAL ENGLISH-I)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original

SI. No.

1

2

3

5

6

PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home



Result Announced Date: 28/08/2025

Results

II Semester B.A. TAMIL JUNE 2025 Examinations

Reg. No.: 24TM0002

Name of the Student : CHARUHASAN P

Th

Pr

Th.

Th.

Th.

Th.

Th.

Th.

Th.

2

Father Name: PRABU MANOHAR

NANOOL-SOLLATHIGARAM

ILAKKIYA VARALARU-II

PAYANPATTUTHAMIZH

DIGITAL TECHNOLOGIES

ELECTRONICS IN EVERYDAY LIFE

ENGLISH-I(FUNCTIONAL ENGLISH-I)

Credit Grade Credit Grade Hours Point Point 20.00 4.00 16.00 7.00 B+ 3 21.00 2 12.00 В 6.00

12.00

15.00

В

6.00

5.00

Mother Name: BHUVANESWARI

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

Subject Name

HEALTH & WELLNESS, YOGA & EDUCATION, SPORTS & FITNESS

Kalapet, Pondicherry

Home



Result Announced Date: 28/08/2025

II Semester B.A. TAMIL JUNE 2025 Examinations

Reg. No.: 24TM0003

Name of the Student : ESERA FATHIMA A

Father Name: ABDUL RAHMAN

Mother Name: SALAMATH NISHA

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	NANOOL-SOLLATHIGARAM	Th.	4	6.00	24.00	В
2	ILAKKIYA VARALARU-II	Th.	4	8.00	32.00	A
3	PAYANPATTUTHAMIZH	Th.	3	8.00	24.00	Α
4	HEALTH & WELLNESS, YOGA & EDUCATION, SPORTS & FITNESS	Th.	2	8.00	16.00	A
5	DIGITAL TECHNOLOGIES	Th.	2	7.00	14.00	B+
6	ELECTRONICS IN EVERYDAY LIFE	Th.	3	6.00	18.00	В
7	ENGLISH-I(FUNCTIONAL ENGLISH-I)	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 28/08/2025

II Semester B.A. TAMIL JUNE 2025 Examinations

Reg. No.: 24TM0004 Name of the Student : RAJKUMAR V

Father Name: VEERABADRAN **Mother Name: MOHANA VALLI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	NANOOL-SOLLATHIGARAM	Th.	4	000	000	F
2	ILAKKIYA VARALARU-II	Th.	4	4.00	16.00	Р
3	PAYANPATTUTHAMIZH	Th.	3	5.00	15.00	С
4	HEALTH & WELLNESS, YOGA & EDUCATION, SPORTS & FITNESS	Th.	2	5.00	10.00	С
5	DIGITAL TECHNOLOGIES	Th.	2	5.00	10.00	С
6	ELECTRONICS IN EVERYDAY LIFE	Th.	3	000	000	F
7	ENGLISH-I(FUNCTIONAL ENGLISH-I)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



PONDICHERRY UNIVERSITY Kalapet, Pondicherry

Home



Results

Invalid Register number / No Results found

Kalapet, Pondicherry

Home



Result Announced Date: 28/08/2025

II Semester B.A. TAMIL JUNE 2025 Examinations Reg. No.: 24TM0006

Name of the Student : SUDHARSAN I

Father Name: ILANGOVAN **Mother Name: SUDHA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	NANOOL-SOLLATHIGARAM	Th.	4	4.00	16.00	Р
2	ILAKKIYA VARALARU-II	Th.	4	4.00	16.00	Р
3	PAYANPATTUTHAMIZH	Th.	3	6.00	18.00	В
4	HEALTH & WELLNESS, YOGA & EDUCATION, SPORTS & FITNESS	Th.	2	6.00	12.00	В
5	DIGITAL TECHNOLOGIES	Th.	2	6.00	12.00	В
6	ELECTRONICS IN EVERYDAY LIFE	Th.	3	5.00	15.00	С
7	ENGLISH-I(FUNCTIONAL ENGLISH-I)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



PONDICHERRY UNIVERSITY Kalapet, Pondicherry

Home



Results

Invalid Register number / No Results found



Kalapet, Pondicherry

Home



Result Announced Date: 28/08/2025

II Semester B.A. TAMIL JUNE 2025 Examinations

Reg. No.: 24TM0008

Name of the Student : UMAMAHSWARI N

Father Na	me : NITHIYANANDHAM		N	Mother Nar	me : DHAN	MAYANTHI
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	NANOOL-SOLLATHIGARAM	Th.	4	5.00	20.00	С
2	ILAKKIYA VARALARU-II	Th.	4	5.00	20.00	С
3	PAYANPATTUTHAMIZH	Th.	3	6.00	18.00	В
4	HEALTH & WELLNESS, YOGA & EDUCATION, SPORTS & FITNESS	Th.	2	7.00	14.00	B+
5	DIGITAL TECHNOLOGIES	Th.	2	8.00	16.00	A
6	ELECTRONICS IN EVERYDAY LIFE	Th.	3	5.00	15.00	С
7	ENGLISH-I(FUNCTIONAL ENGLISH-I)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 28/08/2025

II Semester B.A. TAMIL JUNE 2025 Examinations Reg. No.: 24TM0009

Name of the Student : VIGNESH R

Mother Name: KALAIVANI Father Name: RAMESH

1						
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	NANOOL-SOLLATHIGARAM	Th.	4	5.00	20.00	С
2	ILAKKIYA VARALARU-II	Th.	4	4.00	16.00	Р
3	PAYANPATTUTHAMIZH	Th.	3	7.00	21.00	B+
4	HEALTH & WELLNESS, YOGA & EDUCATION, SPORTS & FITNESS	Th.	2	7.00	14.00	B+
5	DIGITAL TECHNOLOGIES	Th.	2	6.00	12.00	В
6	ELECTRONICS IN EVERYDAY LIFE	Th.	3	5.00	15.00	С
7	ENGLISH-I(FUNCTIONAL ENGLISH-I)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.